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Thank you! Gracias! #i§f | & 95 &) A& 5! AR Y Y ¥=dig ! cnacu6o! Baarogaps!

Before going to this month's questions, I wish to extend many thank yous to everyone who
helped me get the Math Challenge off the ground and into as many languages as possible!

Thank you! Gracias! #i§f | & 5 &) A& 5! AR Y Y ¥=dig ! cnacu6o! Baarogaps!

Kathy Bessler
AJ] Decostanza

Bo Su
Shera Myers

Kayo Takashima
Principal Garcia de Le6n

Yuji Ono

Vice Principal Hook
Junho Yamamoto
Lizie Piazza

Joy Maeng
Charu Jeevanandam

Jaehong Min
Rajesh Sugumaran

Karam Nam
Shoba Girish

Hyejin Cho
Debyani Ghosh

Suh Hyun Choi
Anu Bandi

Pavel Bronnikov
Meg Kutsarova

Thank you again everyone!

Jennie Cochran-Chinn and Clyde Hill PTA

Thank you! Gracias! #i§f | & 95 &) A & 5! AR Y Y ¥=dig ! cnacu6o! Baarogaps!
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